AR I N A

11481-03

Contents

R11895
Rivet 4.8x30
56 pcs

R50601
Safety Screw 10.9 M6x16
24 pcs

R50604
Safety Screw 10.9 M6x40
8 pcs

R50608
Safety Screw 10.9 M6x65
6 pcs

R50614
Safety Screw 10.9 M8x45
4 pcs

R50607
Safety Nut M6
14 pcs

R50616
Safety Nut M8
4 pcs

R50350
T-track Nut M6
24 pcs



